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1. (a)

©®)

Attempt five Questions i all, selecting
Secti . ion 1L
two from Section | and thyee from Section !
Section ]

tX L . ample from
Let X,, X,, ... X+, be an odd-size random samp

( : le
a N(u, o?) population, Find the p.d.f.-of the samp

' i and hence
median and show that it js symmetric about H,

has the: mean p.

. with common
Let Xp X, .., X be a random sample

p.d.f :

1, 0<x<1
f@= 0, otherwise
) | X .87
Find the correlation Coefficient between X and X |
| R PTO.
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(a) Let X X '""’"'9"‘1, x be a random samp'é from a

- W W
N

N (. c)' md the Pdf mean and variancé of :

S=|—2..% — )2
B (n-—j.glg(xx"X)z) .

(%) Fora X’ dlsmblltlon with d ¢ estabhsh the following.
. recurrence  relation bem,een the mome“ts :

pr-ol 2"(]] +nu )’r>1

Hence fi nd B, &B 87

(@) Discuss the hm'“ﬂg fory of ¢ gistribution for large
degrees of freedom ~

2

;buted each as X

((7) If X, “and X, are '"depe dently dnstr

variate with 2 degrees of fre edom then show that the

probapllqty density function of °

) L ) .
Y=gy :
: 2(Xl -X,) ' .

is :

g(y)=%e~|,, . 4,‘)’<°°'

3 = o0

E(xw) exists for Some

. ' ere may exist a

() Show by means o aple that th ,.
. rando an exa E(X) does not exist but
m vy - :
ar lable x f hlch . 5‘5.5

(a)

()

: o

(a)

tively. Suggest @

If X and $° ‘be

-
~ Section 11

Define the following terms :

) - Null ah;i alternative hypothesis .

(i) Critié#l yegion

i) Lével of significance, :

Def"e sampllng dlstl"t"‘tlon and standard error of a

statistic. Obtain the sandard érTor of mean when popu-

. .
lation _suze is larg®

' be the .
Let P, and p, ¢ ¥ (unknown) proportions of
. ses i . .
students wearing gl,as‘ 51 two Universities A "and B,
4 P.,, sam .
To compare P, am,f ? Ples of sizes n, and n, are
- populati '
taken from the. two POPHAtIoNs and the number of stu-,

dents wearmg glﬂsses is found to be - x, and X, respec-

0 anbiased - estimate of (P, - P) and

tnbutl
obtain its samP'“‘ gs on when n, and n, are large,

to t
Hence explaif ho¥ oSt the hypothesis that

P=p. 55,5
(he usual Sample mean ang sample

@ndom sy .
variance based on® ple of Observatmns

PTO.
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(4) ' e
from N(u, ¢3) and T = (X —p) Jn/S, where :
2 1 2
n-1 Z(Xi.- X)

then prove that -

Covariance (%, 7 o (o /fr -1 [ = 2/2)/

Jrenrn-1/2

Define Studeny's t statistic ‘ and obtain its p.d:f. Show
that Student’s ¢ may b regarded 25 2 particular case-
. . e I

of Fisher’s t Statjstic L - 87

Show that for .F-d'is,tributio" with n, and n, d.f, the points
of inflexion exist jf n >4 and are equidistant from the
mode. |
‘ ~ bxé with n d.f., for

lf X ~ F(n.‘m). then prOVe that nX
. 87

large m.

Write short notes o any hree of the following :

@
@)
(i)

)

Brandt and Spe decor r;nﬂla' for 2 x k contingency table.
r fo

rtest. for diﬁ‘erencl ] neans for independent samples.
4 e o

Applicationg “of E. dis".ibution
 relation coefficient when popu-
corm=i=r ‘
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